DELHI URBAN SHELTER IMPROVEMENT BOARD GOVT. OF N.C.T. OF DELHI OFFICE OF THE EXECUTIVE ENGINEER-C-3

No. NIQ No.01/WG/4840/19/EEC-3/AE-II/DUSIB/2021-22/D-241

Dated: 03.09.2021

NOTICE INVITING QUOTATIONS

Executive Engineer, C-3, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies on percentage basis in sealed cover for the following works:-

S.N	Name of work	Estimated cost	Time of Completion
	Name of Work: PAY AND USE JSC SUB HEAD: - AR & MO and some Allied works in 92 seater Jan Shuvidha Complex at JJ Basti HRMR Bhatta Jwalapuri. (PID) 13624)	Rs.2,79,905.00	01 Month

The quotations along with copy of Registration, Pan Card, GST registration should reach the office of the Executive Engineer- C-3, DUSIB, Raja Garden, New Delhi-110027 latest by 2.30 PM on 04.09.2021 which shall be opened on 04.09.2019 at 3.00 PM in the presence of intending quotationers or their representatives. The intending quotationers may collect the schedule of quantities and other information from the office of the Executive Engineer,C-3, DUSIB. The terms & Conditions of the NIQ are as follows:-

- The work shall be carried out as per CPWD manual with upto date correction slips as per direction of Engineer -in- charge.
- Payment shall be made as per actual measurement at site of work and payment will be made after acceptance of report by Competent Authority/ Engineer-in-charge.
- No T& P shall be issued by the Department.
- No extra charges shall be paid except for the rate quoted.
- Conditional quotations shall be liable to rejection.
- For any disputes the matter shall be referred to CE-I DUSIB for final decision and the same shall be binding upon both the parties.
- Necessary statuary deduction will be made as per prevailing Law.
- 8. Work shall be completed to the satisfaction of Engineer-in-charge.
- Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.
- 10. Taxes as applicable as on date shall be deducted from the bill of Contractor, Security shall be deducted @ 10% of each bill and same shall be refunded after Six months of the completion of work.

XECUTIVE ENGINEER

NOTICE BOARD

DELHI URBAN SHELTER IMPROVEMENT BOARD OFFICE OF THE EXECUTIVE ENGINEER C-3

NAME OF WORK :- PAY AND USE JSC

SUB HEAD :-AR&MO and some Allied works in 92 seater Jan Shuvidha Complex at JJ Basti HRMR Bhatta Jwalapuri.

PID-13624

S.	Ref.	Description of work	No.or	Unit	Rate Rs.	Rate in	Amount
No.	No.		Qty.			Words	(In Rs.)
1	4.1.3	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering. All work upto plinth level. 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	2.50	cum	5481.95	Rs Five Thousand Four Hundred EightyOne Paise NinetyFive Only	13704.88
2	4.1.10	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering . All work upto plinth level: 1:5:10 (1 cement: 5 coarse sand: 10 graded stone aggregate 40 mm nominal size)	1.90	cum	4209.05	Rs Four Thousand Two Hundred Nine Paise Five Only	7997.20
3	6.4.2	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in Cement mortar 1:6 (1 cement : 6 coarse sand)	2.50	cum	5582.85	Rs Five Thousand Five Hundred EightyTwo Paise EightyFive Only	13957.13
4	6.13.2	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level upto floor V levelCement mortar 1:4 (1 cement :4 coarse sand)	5.00	sqm	684.20	Rs Six Hundred Eighty four Paise twenty Only	3421.00
5	10.22	Welding by gas or electric plant including transportation of plant at site etc. complete.	300.00	cm	2.85	Rs Two Paise EightyFive Only	855.00
6	10.25.2	Steel work welded in built up sections / framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required: In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works.	200.00	kilogr am	85.95	Rs EightyFive Paise NinetyFive Only	17190.00

S.	Ref.	Description of work	No.or	Unit	Rate Rs.	Rate in	Amount
No. 7	No. 11.26.1	Kota stone slab flooring over 20 mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbing and polishing complete with base of 1:4 (1 cement: 4 coarse sand): 25 mm thick	Qty. 5.40	sqm	1158.10	Rs One Thousand One Hundred FiftyEight Paise Ten Only	(In Rs.) 6253.74
8	11.27	Kota stones slabs 25 mm thick in risers of steps, skirting, dado and pillars laid on 12 mm (average) thick cement mortar 1:3 (1 Cement : 3 Coarse Sand) and jointed with grey cement slurry mixed with pigment to match the shade of the slabs, including rubbing and polishing complete	8.06	sqm	1238.20	Rs One Thousand Two Hundred Thirty Eight Paise Twety Only	9979.89
9	11.36	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer) of approved make in all colours, shades except begundy, bottle green, black of any size as approved by Engineer - in - Charge in skirting, risers of steps and dados over 12 mm thick bed of Cement Mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm including pointing in white cement mixed with pigment of matching shade complete	69.26	sqm	744.80	Rs Seven Hundred FourtyFour Paise Eighty Only	51584.85
10	11.37	Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer) of 1st quality conforming to IS: 15622 of approved make in colours such as White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick cement mortar 1:4 (1 Cement: 4 Coarse sand), including pointing the joints with white cement and matching pigment etc, complete	21.34	Sqm	688.35	Rs Six Hundred Eighty eight Paise Thirty five Only	14689.39
11	12.42.6.	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS:5382 leaving 10 mm gap for thermal expansion. Shoe (Plain) 110 mm Shoe	10.00	Each	98.00	Rupees Ninety Eight Only	980.00

S. No.	Ref. No.	Description of work	No.or	Unit	Rate Rs.	Rate in Words	Amount
12	13.1.1	12 mm cement plaster of mix: 1:4 (1 cement : 4 fine sand)	Qty. 50.00	sqm	172.95		(In Rs.) 8647.50
13	13.2.1	15 mm cement plaster on the rough side of single or half brick wall of mix: 1:4 (1 cement: 4 fine sand)	50.00	sqm	200.25	Rs Two Hundred Paise Twenty Five Only	10012.50
14		6 mm cement plaster to ceiling of mix: 1:3 (1 cement: 3 fine sand)	20.00	sqm	143.80	Rs One Hundred FourtyThree Paise Eighty Only	2876.00
15	13.18	Neat cement punning	10.00	sqm	42.60	Rs FourtyTwo Paise Sixty Only	426.00
16	13.42.1	Distempering with 1st quality acrylic washable distemper (ready made) of approved manufacture and of required shade and colour complete as per manufacture's specifications. : Two or more coats on new work	120.00	sqm	53.15	Rs FiftyThree Paise Fifteen Only	6378.00
17	14.63	Distempering with 1st quality acrylic washable distemper (ready made) of approved manufacturer and of required shade and colour complete. as per manufacturer's specification. 14.63.1 One or more coats on old work	91.49	sqm	29.80	Rs TwentyNine Paise Eighty Only	2726.40
18	13.46.1	Finishing walls with Acrylic Smooth exterior paint of required shade: New work (Two or more coats applied @ 1.67 ltr / 10 sqm over and including base coat of water proofing cement paint applied @ 2.20 kg / 10 sqm)	50.00	sqm	96.05	Rs Ninety six Paise Five Only	4802.50
19	14.66	Finishing walls with Acrylic Smooth exterior paint of required shade: 14.66.1 Old work (Two or more coat applied @ 1.67 ltr/ 10 sqm) on existing cement paint surface	50.00	sqm	68.95	Rs sixty Eight Paise Ninety Five Only	3447.50
20	13.61.1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work	50.00	sqm	78.40	Rs SeventyEight Paise Fourty Only	3920.00
21	14.54	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: 14.54.1 One or more coats on old work	195.03	sqm	51.30	Rs FiftyOne Paise Thirty Only	10005.04

S.	Ref.	Description of work	No.or	Unit	Rate Rs.	Rate in	Amount
No.	No.		Qty.			Words	(In Rs.)
22	13.8	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	15.00	sqm	87.35	Rs Eighty seven Paise Thirty five Only	1310.25
23	15.2.1	Demolishing cement concrete manually / by mechanical means and disposal of material within 50 metres lead as per direction of Engineer - in - Charge. Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	3.00	cum	997.05	Rs Nine Hundred NinetySeven Paise Five Only	2991.15
24	15.2.2	Demolishing cement concrete manually / by mechanical means and disposal of material within 50 metres lead as per direction of Engineer - in - Charge. Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	3.00	cum	615.15	Rs Six Hundred Fifteen Paise Fifteen Only	1845.45
25	15.7.4	Demolishing brick work manually / by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer - in - Charge. In cement mortar	1.00	cum	842.75	Rs Eight Hundred FourtyTwo Paise SeventyFive Only	842.75
26	15.56	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead	100.00	sqm	22.40	Rs TwentyTwo Paise Fourty Only	2240.00
27	15.60	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means,including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-incharge, beyond 50 m initial lead, for all leads including all lifts involved.	10.00	cum	120.55	Rs One Hundred Twenty Paise FiftyFive Only	1205.50

S. No.	Ref. No.	Description of work	No.or Qty.	Unit	Rate Rs.	Rate in Words	Amount (In Rs.)
28	17.1.1	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or S trap, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:17.1.1 White Vitreous china Orissa pattern W.C. pan of size 580x440 mm with integral type foot rests	6.00	each	3494.20	Rs Three Thousand Four Hundred Ninety four Paise twenty Only	20965.20
29	17.28.1. 1	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete. Semi rigid pipe 32 mm dia	8.00	each	75.60	Rs Seventy Five Paise Sixty Only	604.80
30	18.7.1	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge.: Internal work - Exposed on wall: 15 mm nominal outer dia. Pipes.	10.00	metre	142.95	Rupees One Hundred Forty Two and Ninety Five Paise Only	1429.50
31	18.7.5	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including all CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge.: Internal work - Exposed on wall: 40 mm nominal outer dia. Pipes.	12.00	metre	385.50	Rupees Three Hundred Eighty Five and Fifty Paise Only	4626.00
32	18.17.3	Providing and fixing gun metal gate valve with C.I. Wheel of approved quality (screwed end): 40 mm nominal bore	5.00	each	584.70	Rs Five Hundred eighty four Paise seventy Only	2923.50

S. No.	Ref.	Description of work	No.or Qty.	Unit	Rate Rs.	Rate in Words	Amount (In Rs.)
33		Providing and fixing ball valve (brass) of approved quality complete High or low pressure with plastic floats: 25 mm nominal bore		each	331.95	Rs Three Hundred ThirtyOne Paise	663.90
34	18.21.1. 1	Providing and fixing unplasticised P.V.C. connection pipe with brass unions: 30 cm length-: 15 mm nominal bore	2.00	each	59.40	Rs FiftyNine Paise Fourty Only	118.80
35	18.21.2. 2	Providing and fixing unplasticised P.V.C. connection pipe with brass unions: 45 cm length-: 15 mm nominal bore	2.00	each	82.90	Rs Eighty two Paise ninety Only	165.80
36	18.54.1	Providing and fixing PTMT bib cock of approved quality and colour. 15 mm nominal bore, 86mm long. Weighing not less than 88 gms.	50.00	each	103.30	Rs One Hundred Three & Paise Thirty Only	5165.00
37	18.55.1	Providing and fixing PTMT stop cock of approved quality and colour. 15 mm nominal bore, 86 mm long. Weighing not less than 88 gms.	2.00	each	103.30	Rs One Hundred Three Paise Thirty Only	206.60
38	19.19.1. 1	Providing and fixing in position pre-cast R.C.C. manhole cover and frame of required shape and approved quality 19.19.1 L D- 2.5 19.19.1.1 Rectangular shape 600x450 mm internal dimensions	1.00	each	1073.05	Rs One Thousand SeventyThree Paise Five Only	1073.05
39	19.19.3. 1	19.19.3 H D - 20 19.19.3.1 Circular shape 560 mm internal diameter	1.00	each	1300.95	Rs One Thousand Three Hundred Paise NinetyFive Only	1300.95
40	19.20	Supplying and fixing C.I. cover 300x300 mm without frame for gully trap (standard pattern) the weight of cover to be not less than 4.5 kg.	10.00	Each	279.60	Rs Two Hundred Seventy Nine Paise Sixty Only	2796.00
41	16.68	Providing and laying 60mm thick factory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, of approved size, design & shape, laid in required colour and pattern over and including 50mm thick compacted bed of fine sand, filling the joints with fine sand etc. all complete as per the direction of Engineer-in-charge.	15.00	sqm	615.70	Rs Six Hundred Fifteen Paise seventy Only	9235.50

C	Ref.	Description of works	No on	TImit	Data Da	Data in	A4
S. No.	No.	Description of work	No.or Qty.	Unit	Rate Rs.	Rate in Words	Amount (In Rs.)
42	9.96.2	Providing and fixing aluminium sliding door bolts ISI marked anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade with nuts and screws etc. complete : 250x16mm	15.00	Each	189.20	Rupees One Hundred Eighty Nine and Twenty Paise Only	2838.00
43	9.100.2	Providing and fixing aluminium handles ISI marked anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade with necessary screws etc. complete : 100mm	20.00	Each	45.10	Rupees Forty Five and Ten Paise Only	902.00
44	3/Appd.	Providing and fixing 3mm thick ACP signage board of required size, shape and pattern with ecosolvent digital printing 700 dpi, lamination, fixing to the frame of MS square tube of required size with stainless steel screws including wedge fastner it required etc. shall be paid seperately as per the relevent DSR item including cartage, installation/fixing at site as directed by Engineer-in-charge complete with all leads and lifts etc.	1.60	Sqm	3267.56	Rupees three thousand two hundred sixty seven & Paise fifty six only.	5228.10
45	9.97.4	Providing and fixing aluminium tower bolts ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 150x10 mm	20.00	Each	64.30	Rupees Sixty Four and Thirty Paise Only	1286.00
46	9.97.3	Providing and fixing aluminium tower bolts ISI marked anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with necessary screws etc. complete: 200x10mm	20.00	Each	76.15	Rupees Seventy Six and Fifteen Paise Only	1523.00
		Total					267341.32
		Add 15.69% Cost Index Less 9.50% Cost Index Total			Sa	y	41945.85 309287.17 29382.28 279904.89 279905.00
							-